

MAHARASHTRA STATE ELECTRICITY TRANSMISSION COMPANY LTD., (CIN No. U40109 MH 2005 SFC 153646)

EHV CIVIL CONSTRUCTION CUM MAINTENANCE DIVISION-PARBHANI

EXECUTIVE ENGINEER (Civil) MSETCL, EHV CCCM Division,

Old Power House Premises, Jintur Road, Parbhani (431 401).

Parbhani Dist :Parbhani -431 401

Tel (O):02452-242002(O)
E-mail: ee2720@mahatransco.in

Web: www.mahatransco.in

No. EEC/Dn./PBN /Tech/W-53/No.

0229

Date: 1 6 APR 2024

E-Enquiry **QUOTATION NOTICE**

The sealed percentage rate quotations are invited for the following works from the Civil Contractors preferably registered with PWD, Railway and such other department or experienced in similar works of equivalent amount in M.S.E.T.C.L Ltd. The quotations should be submitted in the office of The Executive Engineer (Civil) EHV CCCM Division, MSETCL, Parbhani, Old Power House Premises, Jintur Road, Parbhani from Dt. 18.04.2024 to on or before Dated 25.04.2024 (Thursday) up to 16.00 Hrs. (Time).

The blank quotation will be issued on or before Dt. 24.04.2024 up to 18.00 Hrs. on applications by contractors, producing the Certificate of valid registration.

Sr. No.	Name of work	Estimated cost	E.M.D.	Time Limit
1.	The Urgent arrangement of Ramp at O&M Dn. Parbhani & urgent repairing works of 3 Nos. of Booths for Loksabha 2024 at 132 KV S/S Parbhani premisés, Dist. Parbhani.	Rs. 2,90,844.00/-	Rs.2,910.00/-	15 Calendar Days

Submitted for further needful please.

(S.A. Chougule)

Executive Engineer (C)

EHV CCCM Dn. Parbhani.

[o/c Styned by EE(C)]

Copy S.W.R.S. To:

1. The Superintending Engineer (C) EHV CCCM Circle, MSETCL, ChhatraptiSambhajiNagar. ...This is as per approval vide Ltr. No. 0398 Dt. 08.04.2024.

Copy To:

- 1. The I.T. section zone office ChhatraptiSambhajiNagar.
 - -For Publication of E-enquiry on MSETCL website.
- 2. The Addl. Executive Engineer (C) EHV CCCM Sub Division-I, Nanded.
- 3. The Dy. Manager (F&A), EHV CCM Division, Parbhani.
 - -The amount of this work is Chargeable to sanctioned estimate No. P-01 / 2024-25 R&M Dt. 15.04.2024 under R&M Budget.
- 4. Notice Board.



MAHARASHTRA STATE ELECTRICITY TRANSMISSION COMPANY LTD., (CIN No. U40109 MH 2005 SFC 153646)

EHV CIVIL CONSTRUCTION CUM MAINTENANCE DIVISION-PARBHANI

EXECUTIVE ENGINEER (Civil)
MSETCL, EHV CCCM Division,
Old Power House Premises, Jintur Road, Parbhani (431 401).
Parbhani Dist: Parbhani -431 401.

Tel (O) :02452-242002(O)
E-mail : ee2720@mahatransco.in
Web: www.mahatransco.in

Date: 1 6 APR 2024

TERMS AND CONDITIONS:

Subject: The Urgent arrangement of Ramp at O&M Dn. Parbhani & urgent repairing works of 3 Nos. of Booths for Loksabha 2024 at 132 KV S/S Parbhani premises, Dist. Parbhani.

Dear Sir,

The Sealed percentage rate quotations are invited from Govt. registered & experienced Contractors for the above work as per schedule enclosed. The quotation should reach to the office of the <u>Executive Engineer (Civil) EHV CCCM Division, MSETCL</u>, Parbhani, Old Power House Premises, Jintur Road, <u>Parbhani</u> from Dt. 18.04.2024 to on or before Dated 25.04.2024 (Thursday) up to 16.00 Hrs. (Time).

TERMS AND CONDITIONS:

- 1) The work should be carried out as per P.W.D. specification and instructions of the Engineer in-Charge and to the satisfaction of the undersigned.
- The quantities mentioned in the attached schedule are approximate and likely to vary. However, payment will be made as per the work actually executed and measured. The rates shown in enclosed schedule B are inclusive of GST.
- The work should be completed within FIFTEEN (15) CALENDER DAYS from the date handing over the site, failing which the contractor shall be liable to pay as compensation an amount equal to one percent or such similar amount as the competent authority may decide of the W.O. cost for every day the work remain unfinished after due date of completion subject to the maximum 10% of the cost of the order.
 - In this case the work is being handed over from 25th April 2024, after bid opening on Dt. 25.04.2024 immediately with intimation & permission from higher office i.e. SE(C), EHV CCCM Circle, ChhatraptiSambhajiNagar in view of upcoming Loksabha 2024 election to be held on 26th April 2024. The agency has to work within stipulated 15 days immediately, please note.
- 4) The work which is of bad workmanship quality will not be measured and paid.
- 5) Contractor shall have to arrange for require any equipment, cement, steel etc. at his own cost without involving any financial implications to MSETCL.

- 6) Other material such as require labour, tools, Equipment and plant will have to arrange by the contractor at his own cost.
- 7) The water arrangement /Electricity will have to be made by the contractor at his own cost and it is not binding on the part of department to provide water /Electricity for the work. In case in water/ Electricity is supplied by Department, then the water /Electricity will be charged at the rate 1% of work done for water/Electricity consuming item or 0.25% of total value of work order as decided by the Engineer in-charge.
- 8) The contractor will have to make good the damages if any made by him during the execution of work at his own cost.
- 9) The material should be got approved prior to fixing from the Engineer in-charge.
- 10) The contractor should submit the purchase vouchers for cement, steel with the bill invariably.
- Income Tax as per the prevailing income Tax rule and subsequent amendment thereof will be recovered at source of your bill on total value of work done for which the certificate will be issued if desired.
- As per corporate office Circular No. 7199 Dt. 30.06.2016, the deduction of the labour cess 1% will be effected from each RA bill and as per any amendment from time to time will be applicable.
- Contractor will be held responsible for accident occurred during the course of the work and will have to pay the compensation as per the act 1923 and subsequent amendment thereof.
- Contractor should submit his bill in triplicate through Addl. Executive Engineer (Civil) EHV from the date of receipts of bill to this office.
- The terms and conditions in the M.S.E.T. Co. Ltd. Booklet 'Tender and contract work' will stand applicable for this work.
- You will have to deposit 5.00 % of quotation value as a security deposit against the amount of work order in cash/ DD of any nationalized Bank within 07 days from the date of receipt of LOI, if you will stand successful bidder, failing which EMD will stand forfeited.
- The contractor's offer will be considered as inclusive of all taxes and charges and it will be the contractor's responsibility to pay the taxes to Government and same will not be reimbursed to the contractor.
- Your own offer should be quoted in words and figures scratches and over written rates shall not be considered if not initialed.
- The contractor has to pay earnest money to Rs. 2,910.00/- in cash/RTGS/NEFT/In form of DD of any Nationalized Bank in favor of the EE (C), EHV CCCM DIVISION, MSETC Ltd. PARBHANI. If the EMD receipt of required amount is not found in an envelope, quotation will be rejected.
- 20) The undersigned reserves the right to reject any or all quotations without assigning any reason what so ever.
- 21) GST will be recovered from your bill as per GST norms.

- 22) Special condition: The payment shall be effected as per fund availability. Due to shortage of fund there are chances of delay in payments for which the agency will have to bear with the Dept. No. any of claim on this account will be entertained.
- 23) The estimated cost of the work is Rs. 2,90,844.00 /- only. (Inclusive of all Taxes)
- As per revised circular issued by Dy. Directorate of Insurance Maharashtra State, the contractor shall, apart from other relevant insurance, submit labour insurance @ 0.5 % of contract value to EHV CCCM Division Parbhani before starting of the work. The insurance cover shall be procured by the contractor from Director of insurance Govt. Insurance Fund, Govt. of Maharashtra.
- 25) Contractor has to submit the valid registration, Work Experience of civil work under Govt. body, GST registration certificate, EMD Paid Receipt are as a mandatory documents at the time of submission of Quotation.
- 26) The rates should also be submitted on Separate letter head of agency in addition to above all.

Executive Engineer (C) EHV CCCM Dn. Parbhani.

Copy S.W.R.S. To:

The Superintending Engineer (C) EHV CCCM Circle, MSETCL, Chhatrapti Sambhaji Nagar.
 This is as per approval vide Ltr. No. 0398 Dt. 08.04.2024.



EHV CIVIL CONSTRUCTION CUM MAINTENANCE DIVISION-PARBHANI

Work: The Urgent arrangement of Ramp at O&M Dn. Parbhani & urgent repairing works of 3 Nos. of Booths for Loksabha 2024 at 132 KV S/S Parbhani premises, Dist. Parbhani.

Schedule B

S.N		Qty.	Rate	Unit	Amount Rs
1	Excavation for foundation in earth, soils of all types, sand, gravel and soft murum, hard murrum etc including removing the excavated material upto a distance of 50 m. beyond the building area and stacking or spreading as directed, preparing the bed for the foundation and necessary back filling, ramming, watering, including shoring and strutting as necessary complete. In B. C. Soil & Soft Murrumlift upto 1.5m	1.44	245.00	Cum	352.80
2	Providing and laying in situ, cement concrete in 1:4:8 of trap/ granite/quartzite/gneiss metal for foundation and bedding including bailing out water, plywood/steel formwork, compacting, etc complete as directed	1.65	7451.00	Cum	12,294.15
3	Providing second class Burnt Brick masonry with conventional/ I.S. type bricks in cement mortar 1:6 in above plinth beam & super structure including striking joints, racking out joints wateringand scaffolding complete	2.42	10232.00	Cum	24,761.44
4	Filling in plinth and floors with contractors material/brought from outside and approved by Engineer incharge in layers of 15 cm to 20 cm including watering and compaction etc. complete.	7.29	1422.00	Cum	10,366.38
5	Providing soling using 80 mm size granite / quartzite / gneiss / trap metal in 15 cm. layer including hand packing filling voids with sand / grit, ramming, watering etc complete. (Including Royalty)	2.16	2476.00	Cum	5,348.16
5 1 1	Providing internal cement plaster 12 mm thick in a single coat using Ready to use wall plaster to concrete or brick surface in all positions including scaffolding and curing complete. Providing groove at joint of B.B. Masonry and concrete members complete. b) cement ratio 1:4 With Prior Approval of Concerned S.E.	10.52	311.00	Sqm	3,271.72

7	including neat cement float, filling joints with neat coloured cement slurry, curing polishing and rubbing complete.	11.64	872.00	Sqm	10,150.08
8	Providing and fixing 900mm high S.S.304 Grade Stainless steel railing with 40mm diameter and 1.5mm thick at top, 40mm diameter and 1.5mm thick vertical supports spaced at 1.5m center to center and 8mm thick toughened glass including fabricating ,fixtures, errecting , necessary welding , grinding , finishing, buffing tostainless steel pipe etc. complete	9.70	5578.00	Rmt	54,106.60
9	Providing and fixing machine cut machine polished 18 mm to 20 mm thick telephone black /Amba White / Cat bary brown / RBI red / Ocean Brown granite stone for treads and risers of steps and staircases of approved colour and shade with full moulding and three grooved linefor the treads on bed of 1:4 Cement mortar including float filling joints with neat cement slurry curing polishing and cleaning etc. complete.	2.80	4948.00	Sqm	13,854.40
10	Providing and applying priming coat on concrete/masonary/ Asbestos Cement plastered surfaces including scaffolding if necessary, preparing the surface by thoroughly cleaning oil, grease, dirt and other foreign matter and sand papering as required etc.complete.	10.52	43.00	Sqm	452.36
11	Providing and applying plastic emulsion paint of approved quality, colour and shade to old and new surfaces in two coats including scaffolding, preparing the surface. etc. complete.	10.52	95.00	Sqm	999.40
12	Providing and applying two coats of flat oil paint of approved colour to the old structural steel work and iron work previously painted in building including scaffolding, if necessary, cleaning and preparing the surface etc. complete	20.00	101.00	Sqm	2,020.00
13	Providing and fixing solid core flush door shutter commercial in single leaf 32 mm thick without ventilator commercial type of exterior grade as per detailed drawings with wrought iron hold fast, stainless steel fixtures and fastenings and handles on both sides and finishing with oil painting 3 coats complete.	2.52	3455.00	Sqm	8,706.60

1.	fastening with chromium plated fixtures and fastening with chromium plated handles on both sides, etc. complete.	2.15	3883.00) Sqm	8,348.45
15	Suupy and Fixing of BRASS Tower bolt 10mm dia 300mm length etc. Complete. As directed by Engineer -in-Charge.	3.00	548.00	Nos	1,644.00
16	Supply and fixing of Aldrop Stainless steel 300*16mm etc. Complete. As directed by Engineer -in-Charge.	3.00	674.00	Nos	2,022.00
17	Supply and fixing of Handle Alluminium 125 mm etc. Complete. As directed by Engineer -in-Charge.	3.00	121.00	Nos	363.00
18	Charge.	3.00	1018.00	Sqm	3,054.00
19	Providing and fixing coloured glazed earthenware Wash Hand Basin of 45 cm x 30 cm size including cold water pillar tap/cold and hot water pillar tap brackets, rubber plugs and brass chain, stop tap and necessary pipe connection including P.V.C. waste pipe and trap up to the outside face of the wall. Making good the damaged surface, testing etc. complete.	2.00	6681.00	EA	13,362.00
20	Providing and fixing 1st class white glazed earthenware Orissa Type W.C. Pan 580 mm dia including P or S trap cast iron soil and vent pipe upto the outside face of the wall (1:5:1 0) cement concrete bedding 15 mm thick, 10 liter P.V.C. flushing cistern with all necessary pipe connection etc. complete.	1.00	8761.00	EA	8,761.00
21	Removing doors and windows with frames and stacking the materials as directed with all leads, lifts etc. complete.	2.00	185.00	Sqm	370.00
22	Removing W.C. pans including disconnecting the sanitary and water supply connections, removing and breaking flooring and bed con-crete around pan removing the same carefully and stacking the serviceable materials as adn where directed including throwing the unserviceable materiasls out side etc. carefully and throwing out the refusal outside etc. complete.	1.00	245.00	Cum	245.00

	Manualy clearing the chockes from under ground drainage line including Inspection chambers with the help of required tools for propre functioning line chamber to chamber etc. complete.	20.00	58.00	Nos	1,160.00
2	Supply and fixing of P.V.C. flexible Waste Pipe 32 mm dia of required length and as per site conditions etc. Complete. As directed by Engineer -in-Charge.	1.00	93.00	EA	93.00
2	Providing and fixing on walls/ ceiling/ floor 15 mm dia. CPVC pipe with necessary fittings, remaking good the demolished portion etc. complete. Including removing existing pipe line if necessary and conveying and stacking the same in PWD chowky or as directed etc. complete.	10.00	315.00	Rmt	3,150.00
2	Providing and fixing on walls/ceiling/floor 20 mm dia. CPVC pipe with necessary fittings, remaking good the demolished portion etc. complete. Including removing existing pipe line if necessary and conveying and stacking the same in PWD chowky or as directed etc. complete.	10.00	368.00	Rmt	3,680.00
27	Providing and fixing on walls/ ceiling/ floor 25 mm dia. CPVC pipe with necessary fittings, remaking good the demolished portion etc. complete. Including removing existing pipe line if necessary and conveying and stacking the same in PWD chowky or as directed etc. complete.	15.00	445.00	Rmt	6,675.00
28	Providing and fixing on walls/ ceiling/ floor 40mm dia.CPVC pipe with necessary fittings, remaking good the demolished portion etc. complete. Including removing existing pipeline if necessary and conveying and stacking the same in PWD chowky or as directed etc. complete.	10.00	639.00	Rmt	6,390.00
29	Providing and fixing 15 mm dia. screw down bib/ stop tap of brass /CPVC including necessary socket union nut complete.	4.00	796.00	EA	3,184.00
30	Providing and fixing screw down for 20 mm dia. wheeled stop tap of brass /CPVC including necessary sockets/union nut complete.	1.00	759.00	Nos	759.00
31	Providing and fixing screw down for 25mm dia. Wheeled stop tap of brass /CPVC including necessary sockets/union nut complete	1.00	1041.00	Nos	1,041.00

Providing and C ' AVE				
high density polythyler and built corrugated inclusive of delivery up to destination hoisting and fixing of accessories such as inlet, outlet overflow.		17.00	Ltr	34,000.00
approved quality and One Number, filing the joint using rubber gasket with solvent cement and properly resting the shoe of pipes on C.C. or masonry blocks, including necessary scaffolding and maintenance for 3 yrs for any leakages or dislocations of pipes. All the P.V.C. fitting sand additional 2 piece socket clips shall be got approved from engineer in charge etc. complete.	16.00	675.00	Rmt	10,800.00
Pro Service of skilled labour /day Sparing services skilled male labourLabour charges for Skilled labour at the site of work.	6.00	768.00	Nos	4,608.00
Labour charges for removing grass, thorney shrubs, Jungli shrub, Kubabul and alike grass along roadside making the ground clean by showel and phavaras etc. complete.	80.00	8.00	Sqm	640.00
Suppying & execution of JCB hour for various unfroseen works at colony premises, etc. complete. As directed by Engineer in Charge	2.00	1508.00	Hrs	3,016.00
Supplying and erecting PVC trunking (PVC casing-n-capping) of size 20 mm with accessories on wall/ceiling as per specification No: WG-MA/CON.	30.00	48.00	Rmt	1,440.00
Supplying and erecting mains with 2x1.5 sq.mm FRLSH copper PVC insulated wire laid in provided conduit/trunking/inside pole/Bus bars or any other places as per specification No: WG-MA/BW	15.00	47.00	Rmt	705.00
	ingly density polythyler and built corrugated inclusive of delivery up to destination hoisting and fixing of accessories such as inlet, outlet overflow pipe inclusive of all tanks capacity between 200 to 1000 liters. Providing and fixing P.V.C. Rainwaterpipes of 110mm outer diameter and having wall thickness of 2.2 to 2.7 mm confirming to L.S.13592-1992 including proper rain water receiving recess with P.V.C. plug, bend, necessary fittings, such as, offsets, shoes, inluding fixing the pipe on wall using approved wooden cleat s projecting 25 mm to 40 mm from face of wall afixing with clips of approved quality and One Number, filing the joint using rubber gasket with solvent cement and properly resting the shoe of pipes on C.C. or masonry blocks, including necessary scaffolding and maintenance for 3 yrs for any leakages or dislocations of pipes. All the P.V.C. fitting sand additional 2 piece socket clips shall be got approved from engineer in charge etc. complete. Pro Service of skilled labour /day Sparing services skilled male labourLabour charges for Skilled labour at the site of work. Labour charges for removing grass, thorney shrubs, Jungli shrub, Kubabul and alike grass along roadside making the ground clean by showel and phavaras etc. complete. Suppying & execution of JCB hour for various unfroseen works at colony premises, etc. complete. As directed by Engineer in Charge Supplying and erecting PVC trunking (PVC casing-n-capping) of size 20 mm with accessories on wall/ceiling as per specification No: WG-MA/CON. Supplying and erecting mains with 2x1.5 sq.mm FRLSH copper PVC insulated wire laid in provided conduit/trunking/inside pole/Bus bars or any other places as per specification No: WG-	anke one piece moulded water tank made out of high density polythyler and built corrugated inclusive of delivery up to destination hoisting and fixing of accessories such as inlet, outlet overflow pipe inclusive of all tanks capacity between 200 to 1000 liters. Providing and fixing P.V.C. Rainwaterpipes of 110mm outer diameter and having wall thickness of 2.2 to 2.7 mm confirming to I.S.13592-1992 including proper rain water receiving recess with P.V.C. plug, bend, necessary fittings, such as, offsets, shoes, inluding fixing the pipe on wall using approved wooden cleat s projecting 25 mm to 40 mm from face of wall afixing with clips of approved quality and One Number, filing the joint using rubber gasket with solvent cement and properly resting the shoe of pipes on C.C. or masonry blocks, including necessary scaffolding and maintenance for 3 yrs for any leakages or dislocations of pipes. All the P.V.C. fitting sand additional 2 piece socket clips shall be got approved from engineer in charge etc. complete. Pro Service of skilled labour /day Sparing services skilled male labourLabour charges for Skilled labour at the site of work. Labour charges for removing grass, thorney shrubs, Jungli shrub, Kubabul and alike grass along roadside making the ground clean by showel and phavaras etc. complete. Suppying & execution of JCB hour for various unfroseen works at colony premises, etc. complete. Supplying and erecting PVC trunking (PVC casing-n-capping) of size 20 mm with accessories on wall/ceiling as per specification No: WG-MA/CON. Supplying and erecting mains with 2x1.5 sq.mm FRLSH copper PVC insulated wire laid in provided conduit/trunking/inside pole/Bus bars or any other places as per specification No: WG-	anke one piece moulded water tank made out of high density polythyler and built corrugated inclusive of delivery up to destination hoisting and fixing of accessories such as inlet, outlet overflow pipe inclusive of all tanks capacity between 200 to 1000 liters. Providing and fixing P.V.C. Rainwaterpipes of 110mm outer diameter and having wall thickness of 2.2 to 2.7 mm confirming to I.S. 13592-1992 including proper rain water receiving recess with P.V.C. plug, bend, necessary fittings, such as, offsets, shoes, inluding fixing the pipe on wall using approved wooden cleat sprojecting 25 mm to 40 mm from face of wall affxing with clips of approved quality and One Number, filing the joint using rubber gasket with solvent cement and properly resting the shoe of pipes on C.C. or masonry blocks, including necessary scaffolding and maintenance for 3 yrs for any leakages or dislocations of pipes. All the P.V.C. fitting sand additional 2 piece socket clips shall be got approved from engineer in charge etc. complete. Pro Service of skilled labour /day Sparing services skilled male labourLabour charges for Skilled labour at the site of work. Labour charges for removing grass, thorney shrubs, Jungli shrub, Kubabul and alike grass along roadside making the ground clean by showel and phavaras etc. complete. Suppying & execution of JCB hour for various unfroseen works at colony premises, etc. complete. Supplying and erecting PVC trunking (PVC casing-n-capping) of size 20 mm with accessories on wall/ceiling as per specification No: WG-MA/CON. Supplying and erecting mains with 2x1.5 sq.mm FRLSH copper PVC insulated wire laid in provided conduit/trunking/inside pole/Bus bars or any other places as per specification No: WG-	high density polythyler and built corrugated inclusive of delivery up to destination hoisting and fixing of accessories such as inlet, outlet overflow pipe inclusive of all tanks capacity between 200 to 1000 liters. Providing and fixing P.V.C. Rainwaterpipes of 110mm outer diameter and having wall thickness of 2.2 to 2.7 mm confirming to 1.S.13592-1992 including proper rain water receiving recess with P.V.C. plug, bend, necessary fittings, such as, offsets, shoes, inluding fixing the pipe on wall using approved wooden cleat s projecting 25 mm to 40 mm from face of wall affxing with clips of approved quality and One Number, filing the joint using rubber gasket with solvent cement and properly resting the shoe of pipes on C.C. or masonry blocks, including necessary scaffolding and maintenance for 3 yrs for any leakages or dislocations of pipes. All the P.V.C. fitting sand additional 2 piece socket clips shall be got approved from engineer in charge etc. complete. Pro Service of skilled labour/day Sparing services skilled male labourLabour charges for Skilled labour at the site of work. Labour charges for removing grass, thorney shrubs, Jungli shrub, Kubabul and alike grass along roadside making the ground clean by showel and phavaras etc. complete. Suppying & execution of JCB hour for various unfroscen works at colony premises, etc. complete. Supplying and erecting PVC trunking (PVC casing-n-capping) of size 20 mm with accessories on wall/ceiling as per specification No: WG-MA/CON. Supplying and erecting mains with 2x1.5 sq.mm FRLSH copper PVC insulated wire laid in provided conduit/trunking/inside pole/Bus bars or any other places as per specification No: WG-

39	Supplying and erecting mains with 2x2.5 sq.mm FRLSH copper PVC insulated wire laid in provided conduit/trunking/inside pole/Bus bars or any other places. as per specification No: WG-MA/BW	15.00	73.00	Rmt	1,095.00
40	Supplying and erecting shockproof 3 pin plug socket 6A with porcelain base / flush type erected on filled polypropylene board or polished thick varnished double wooden block / folded or screwed board with top of either wooden / 3 mm thick hylam sheet/ 4mm thick plywood pasted with 1.5 mm thick laminate with S M screws and duly connected.	2.00	52.00	EA	104.00
41	Supplying and erecting modular type switch 6A / 10A duly erected on provided plate and box with wiring connections complete	10.00	85.00	EA	850.00
42	Supplying and erecting PVC Surface modular switch box with double mounting & front plate for 8 module complete duly connected	2.00	309.00	EA	618.00
43	Supplying and erecting PVC Surface modular switch box with double mounting plate for 12 module duly erected.	2.00	405.00	EA	810.00
44	Supplying & erecting flat flexible 3 core 2.5 sq.mm PVC sheathed submersible type copper cable suitably clamped at fixed intervals with column pipe assembly complete.	97.00	164.00	Rmt	15,908.00
45	Supplying and erecting regular/ standard model ceiling fan of 600mm. Sweep complete erected in position as per specification no. FG-FN/CF	2.00	2181.00	EA	4,362.00
46	Supplying and erecting modular type (two module) electronic step regulator for fan, duly erected on provided plate and box with wiring connections complete	2.00	451.00	EA	902.00
	Total Rs. =				2,90,844.00

Executive Engineer (C)
EHV CCCM Division, MSETCL,
Parbhani